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Question Number : 1 Question Id : 3354727931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which year was the INSAT - 1B satellite successfully launched? | s@e- Lt Iung ®1 forg o § Shaa e waita
ST T 4177

Options :

1. % 1981
® 1982
. ¥ 1983
#® 1984

[

B

Question Number : 2 Question Id : 3354727932 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which state is the Sonai Rupai Sanctuary situated? | 4G 018 SR e =49 H 79T 57
Options :

1. ¢ Assam | @A

-

2. % Meghalaya | HaTe

3. ¥ Manipur | AT

4 ¥ Tripura [ FqRT

Question Number : 3 Question Id : 3354727933 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Which type of teeth is used for grinding food? | 7o U@ & ST BT JUANT GTET &1 HE- | T 197 87

Options :
1. ¥ Molar | T%
2. % Incisor | F-d®

w

% Canine | &A%
. % Milk teeth | gy ¥ T

LY

Question Number : 4 Question Id : 3354727934 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The Bharatiyva Jana Sangh was founded in the year______.
Options :

1. ¥ 1948

2 % 1949

3. ¥ 1950

4 ¥ 1951

Question Number : 5 Question Id : 3354727935 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“World Environment Day’ is celebrated on __________ of every vear. | ‘feber qeriamor feae nedwad _________ wr
AT AET 8

Options :
1. ¥ Sth June | 557
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V]
¥

* 2nd June | 2 97

L
#

¢ 3rd June | 39
4 % gth June | 6 97

Question Number : 6 Question Id : 3354727936 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Chairman of the National Human Rights Cormmmission is appointed by the: | TERT AR T2 & a2y
Cal BT T T a2l

Options :
# Prime Minister | wem w4t

v President | TeUfd
% Vice President | JUEUid

#® Council of Ministers | AEHSH

Ll

Question Number : 7 Question Id : 3354727937 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
August 9is observed as the anniversary of which famous movernent during the Indian Freedorn Struggle? | 9

SITTET T AR 1 €aa 397 TUTH & S o Wiehg HTa e @1 auITE & &0 H A-TaT AT 8
Options :

1. ¢ Quit India Movement | ¥Rd BIST A e

2. ® Non-Cooperation Movement | /g g A

# Salt Satyagraha | S0% HIATE

W

-

# Khilafat Movernent | TEaTHT sg e

Question Number : 8 Question Id : 3354727938 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The Union Public Service Commission of India has been established under the Article

| T T G ik el ST Wi o s & siaTla it e mar 2
Options :

1. v 315

® 234

® 421

® 5g

of the Constitution.

W

>

Question Number : 9 Question Id : 3354727939 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Narne the Indian who co-founded Hotmail. | 30 WRE T2 &7 910 aaTd - gTede & qg—amoT &

Options :

1. ®¥ Vishal Sikka | Terame &g

2. ¥ Sabeer Bhatia | @&T HTieAT

3. ® Mark Zuckerberg | AT Jatai

4. % Satya Nadella | 9 92TAT

Question Number : 10 Question Id : 3354727940 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
‘Mangalyaan’ is the name of

Options :

1. ® India’s Satellite Launching Vehicle | ¥Ra &7 JUTg W4T a1
2. ¥ India’s Mars Orbiter Mission | 9 &7 AT FI9 Haw

3. ¥ India’s Mission to Moon | AR &1 IgAT 159+

4. % India’s Navigation Satellite | HRT %7 G=TaT SUTE

Question Number : 11 Question Id : 3354727941 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which state in India has the longest railway line in route metwork) kms? | WRT & o6 T4 § & TorAT. # T drl
A ATE (Jead) U e

Options :

1. ¥ Maharashtra | AgRTY

2. ¥ Madhya Pradesh | mer udar
3. ¢ Uttar Pradesh | 3OT Uy

4. ¥ Rajasthan | T=e™

Question Number : 12 Question Id : 3354727942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Rajwada palace is located in ________. | OIS T Hgel_______ AT

Options :

. ¥ Indore| 32X

2. ¥ Gwalior| TmieET
3. ¥ Ujjain/ ==

4. ¥ Ratlam/ @™

=

Question Number : 13 Question Id : 3354727943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Baz Bahadur palaceisat __________. | ST ST W __________ LGRS

Options :

1. ¢ Mandu | AT
2. ® Ujjain | 3904
3. ¥ Indore | TR

4. ¥ Rewa | T

Question Number : 14 Question Id : 3354727944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which districts come in the Shahdol division?| SEeid G4 # @9 & Me and 27

Options :

1. ¥ Katni, Satna | ®we-1, GaqT

2. ¥ aAnuppur, Shahdol, Umaria | SFUYT, 958 1, SHET
3. ¥ Katni, Damoh | @1, gAG

4. ¥ None of the above | 578 9 ®1E 751
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Question Number : 15 Question Id : 3354727945 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the ‘Dhuniwale Dada ki Samadhi’ located at? | 'giveTe grar & dumer g1 e g7

Options :

% Harda | gaT

v Khandwa | @sar
¥ Sheopur | Mg
% Shivpuri | T9egar

-

W

-

Question Number : 16 Question Id : 3354727946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In which one of the following places in Chhindwara is the hot water kund (hot springs) located? | ECCIER:
e vt # § T G2 o T U @ e (T Seea) R e

Options :

1. ¥ Tamia | 3=

2. % Patalkot | UdTA@E
3. ¥ Anhoni | SFEHAT

4. ¥ Babeha | @EiigT

Question Number : 17 Question Id : 3354727947 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which o ghe following is the birthplace of Chandra Shekhar Azad? | FgaET # & @9 97 T<4/a7 =TS @7
ST 5

Options :

1. ¥ Harda | g%ar1
2. ¢ Bhavra | 9&RT
3. % Kabra | @TexT
4. ¥ Pithora | foefRT

Question Number : 18 Question Id : 3354727948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which one of the following cities 1n Ind1a is gopularly knowm as the city of Lord Pashupatinath? | Faiega # &
I AT WA 19 T, AT quid T &

Options :

1. ¥ Bhopal | {0

v Mandsaur | Ag9iT
® sidhi | dTeft

® Datia | =fdar

r

w

-

Question Number : 19 Question Id : 3354727949 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the name of India’s first subsonic cruise missile tested in November 20177 | 9% 2017 # gy &1 e
URT 1 Ugcil FeraTi-er T THETSe T AT T 57

Options :



—

® aApgni | s
. ¥ Nirbhay | g
® Prithvi | gedr

® Yayu [ 9

W

-
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Question Number : 20 Question Id : 3354727950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The new bank note of Bs. 200 denormination issued in 2017 has motif of

200F, & AT sfef 1T BT Ie(eT T U0 ____ Hedan @r

Options :

1. ¢ Sanchi Stupa | 9! g0

® Taj Mahal | T Agel

# Hampi Monuments | gt TAR®
% Rashtrapati Bhavan | Tgzuid 2+

M

w

-

_______ on the reverse. | 2017 # AT

General Maths and General Aptitude

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472259
2

Online
Mandatory
20

20

20

Yes

No

1
335472259
Yes

Question Number : 21 Question Id : 3354727951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A man’'s age is four times that of his son. In 20 years, he will be twice as old as his son. What are their present

ages? | T SATGHT @1 31T SHF Y &1 o AT & a97 20 T97 § g5 70 O @1 &I &7 ST 51T 39 i1 &1 ad 61 S 4T 87

Options :

1. # 1S vears, 60 years | 15 @4, 60 a9
® S years, 25 years | 5oy, 25 @

. ¥ 10 years, 40 years [ 10 @, 40 a9
® 12 years, 48 years | 12 @, 43 @

[+2

L

=

Question Number : 22 Question Id : 3354727952 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Multiply: / a[0Tel &Y :
5x% — 8xy+ 6y* — 3 By 3xv

Options :
% 15x%y — 24x%y — 18xy® — 9xy

5 % 15x2y — 24x%y2? + 18xy? — 9xy

15x3y — 24x%y2 4+ 18xy® — 9xy
W ¥ ) ¥ V

L

15x3y + 24x%y? + 18x%y — 9xy

Question Number : 23 Question Id : 3354727953 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The number of the form 7A332 is divisible by 18, then & is: | 7AS32 ST §E1 1S G SWFO 21 9T A

Options :
1. %5
2 R 7
3 %9
4 v 3

Question Number : 24 Question Id : 3354727954 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In the figure, angles at A, B and C are 90°. Also BD =BE.I[f £ZBEA = 25°, then £CDE is equal

to_ ./ &= & FIoT A.B Ud C 90° §, 92m BD =BE 21 Ife £BEA =25° dd «CDE

= &l
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1200

Question Number : 25 Question Id : 3354727955 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
4 2-(3.2-2.3) =7
Options :

1.¥33

4

2 % 43
3. ¥ 033
4 ® 33

Question Number : 26 Question Id : 3354727956 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Find the average. | 3/&d 19 &4

23, 42, 15, 20, 25
Options :
1. v 25

2. % 24

(4]
(1]

M2

.2
=

Question Number : 27 Question Id : 3354727957 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Eohan wants to devise a 6-digit password for his QEW project. Homwe IMany such choices does he hawve to devise
the new password? | ﬁs?amﬁg UIAT o 610 6 2fer! &7 UTaae a9 ST aledT 51 34T UTeae a1 & Toly J&a ure

'
Options :
1. ¥ glakhs | 6 @@

M

® 7lakhs | 7 @19

L

® 8lakhs | 89

LY

. ¥ 9lakhs | 9 &

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 28 Question Id : 3354727958 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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In the given parallelogram, find the value of x. / 6T 3T TAHGR dcgﬁioi H, X & AA
EIGECT]

15

2x-3
Options :
1. ¥ 3
2 % g
3.¥/9
4 ¥ g

Question Number : 29 Question Id : 3354727959 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If x3- 8x*+ 16x% + 3x2 — 22x + 19 is divided by x — 4, then what is the remainder? / AT x°- 8x*

+16x3 +3x2 - 22x + 19FT x — 4 E@RT faeifarad &Fam AT, ar dudhe =T §?

Options :
1. " <21

2. % 21

w

4 ® _19

Question Number : 30 Question Id : 3354727960 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

A, B, and C enter into a partnership. 4 invests Rs. 25 lakhs initially and adds another Bs. 10 lakhs after 1 year.
E invests Bs. 35 lakhs initially and withdraws Rs. 10 lakhs after 2 years. C invests Es. 30 lakhs. What fraction
of the profit will C get after 3 years? [ A, B Ua C = U% @IaRT # 0o M A 5 WY # 25 71T T &7 =der o a2m 1
T AT A 10 AT w0 e 9w B A URT § 35 & w0 &7 e T o 2 o wan 10 @ w0 e o e C, 30
T B T T9a19T ST 21 3 & WelTd C FI1eT ohT Teer=T afar oy ey

Options :

1. ¥ 19/56
2 % 19/28
¥ 928

® 17128

L

-

Question Number : 31 Question Id : 3354727961 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The occupancy percentage of a hotel is 88% for the three surmmer months and 44% for the rest of the year.

What is the average occupancy percentage for the whole year? | UF giea H THT & o 1= A 91 o 1ol STTERTIT Wid e
88% %ms‘waﬁ%q 44% 3 é@?aﬁﬁﬁueﬁwaﬁaﬁnwﬁmw@

Options :
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® 50%

—

. ¥ 55%

M2

® 5%

® 70%

3\

-

Question Number : 32 Question Id : 3354727962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
8+0+-6x3-3="
Options :

1. %0

e

® 11

[

LA

e

Question Number : 33 Question Id : 3354727963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Subhash is younger than Ravi by 5 years. If their ages are in ratio of 4:5, then how old is Subhash? | g9, e
A5 o FIeT 31 Iie ST o1 4:5 F SIguTd | 3, I U H A1 TraeT a7

Options :

1. ¥ 20 years | 20 a9

® 15years | 15 @9

#® 25 years | 25 70

® None of the above [ 598 & ®18 g1

r

w

o

Question Number : 34 Question Id : 3354727964 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Iftwo carstravel 160 kmand 120 kmin 10 hoursand & hours, respectively, then their ratio of dverage speed
is: | ot gt @i 160 Tl gum 120 Frdl &1 amar w10 9 J0m S O # @d 1 §, q1 5! fTad T &7 S7umd &

Options :

1. 28

2 % 43

® 45
4 ¥ 51

S\

Question Number : 35 Question Id : 3354727965 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 25370 is represented as a repeating decimal, then the 2017th decimal position is___. | Iie 25370 ®i
TRTad | gaied & &0 § Tt foar sar €, a1 201 747 gemee Feafa EH

Options :

1. %0

- 3R
2 ™

~J

s3]

4

9]
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Question Number : 36 Question Id : 3354727966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
The PErimeter of a rhombus is 100 cm and one of the diagonals is 48 cm. The area of the rhombus in 50 .CITL

___. | AHETHS @ URHT 100 GHT R q9T Ew § 8 Uw 48 Q6T g1 aviaat § SEadys # e

Question Number : 37 Question Id : 3354727967 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The square root of 55225 is: | 55225 T aTgH &
Options :

1. ¥ 52

2 & 235

;. ¥ 535

3
4 ¥ 225

Question Number : 38 Question Id : 3354727968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
1032 * 997 =7

Options :

1. % 10258804

® 1023894

¥ 1028904

# None of these | T90 § FIE 31

M

(A}

e

Question Number : 39 Question Id : 3354727969 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the last digit of 2372% x 78%%°_/ 2372% x 78%% HTOH 3F AT FLl
Options :
L =2
® 3

W

e

Question Number : 40 Question Id : 3354727970 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The salary of a man, which was Es. 500 earlier, increases to Rs. 600, What is the percentage change in salary?

qav‘g*éﬁraﬂéa—rr\?ﬁﬁ‘ﬁusﬁsoo T ST, &gt 600 FU §1 TN Sae # uiad T T uidaadT e 27

Options :
1. % 16.66%
2 ® 10%
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3. ¥ 20%
4 % 15%
General Hindi

Section Id : 335472260
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472260
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727971 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

FUTT o e & S ATe T A g HEATdl Bl
Options :

v g

* A

* oot

[0

&

Question Number : 42 Question Id : 3354727972 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Toaq @ apf ¢ -

Options :
1. ¥ Ig% gAE

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

r

3

Question Number : 43 Question Id : 3354727973 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

U Teg, AT et amurert & ot fgeal H weierd 51 A &, o &g o-
Options :

1. fadh
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Question Number : 44 Question Id : 3354727974 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
ST T S0 -

Options :
1. % 7

R

(W]

Question Number : 45 Question Id : 3354727975 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
oo, of Awiars a7 of anfw- Fefe deal @ id FEaaT ol
Options :

M2

L

Y

Question Number : 46 Question Id : 3354727976 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“Tam @ wataart e H S e ag?
Options :

0

l-h'*

Question Number : 47 Question Id : 3354727977 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

T WA ITAT & o U deg g H E @i AT 87
Options :

.V ame

4. ® mrorsier

r

L

Question Number : 48 Question Id : 3354727978 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

e F A e e A @A g?
Options :

1. % gi+za

-
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4 ¥ gar+ua

Question Number : 49 Question Id : 3354727979 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
GET H AT geg g H A BT AT g?
Options :

Question Number : 50 Question Id : 3354727980 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g I oA e T H # B 7
Options :

L 5N

G

L

-

Question Number : 51 Question Id : 3354727981 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Tae-umdd T g # 9 # & w9 AT 9 g7
Options :

&'6 E\-:f'i _5. EI ﬂ

-t

[

Ll

g

Question Number : 52 Question Id : 3354727982 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

UTST TET GeTat @ off Mg A F @ arg?
Options :

2 ® aT.QG‘JEH

4. % FET GAFHT

Question Number : 53 Question Id : 3354727983 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T W G & 1 H #6187
Options :
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4 ¥ v

Question Number : 54 Question Id : 3354727984 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

"3 AT THY F TF W, e Tl @I AT

0T 9T T g AT SRiad, T5d 7 @t F WA F |
UG H T H @ AT g a7

Options :
2. spgd T

® g

w

-

Question Number : 55 Question Id : 3354727985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

T g &l drgepid, Tl T Avg, 1+a)
ngﬂ%émaﬁm T S aaTall
H I AT AT 51 Fal fohed gimy?

Options :
1. ¢ JTHYT SRR

4. ® JUAT AAFR

Question Number : 56 Question Id : 3354727986 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

JugH Ty deg T - diida
Options :

® uriet

w o

Y

Question Number : 57 Question Id : 3354727987 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

g & g T B gy -

Options :

1. ¥ wmedie d o o+ T 3@ A )
2 ® 3 gdH wF weR ¥ 3 I )
3. ¥ I Oy § e H g gdH g T
4. T | TE AT TIA B
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Question Number : 58 Question Id : 3354727988 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

el Tord sreg ! | ToqeT GHE @ ISR & -
Options :

4. ¥ I

L

Question Number : 59 Question Id : 3354727989 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Tergreder awigTieT dect & wET ST AT -

Options :

w

.

Question Number : 60 Question Id : 3354727990 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A g # 9 e a9 @7 Igor a7

Options :
1. ¢ T e

e A

Fural Economy and Panchayati Raj

Section Id : 335472261

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472261
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354727991 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
MNasmnnt « T WNensae « N
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What is the name of the programme being implemented for control of pests? | #ie! & =0 & @0 FTi-ad
FIHFA FT AT F4T 37

Options :

1. ® Integrated Pest Eradication Scherme | Usigd e IUaT AT

2. ¥ Integrated Pest Destruction Yojana | Udigd $ie AT F-T

3. ® Integrated Pest Prevention Programme | UHigd tie JIHaTH Hmd
4. ¥ Integrated Pest Management Programume | Uiigd ®ic Hae #rawd

Question Number : 62 Question Id : 3354727992 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gover%ment ?ﬁf] India announced the National Policy for Farmersin _____ .| VIRT T el & oy e A

Options :

1. % 1998
2. % 2004
3. ¥ 2007
4. % 2014

Question Number : 63 Question Id : 3354727993 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Madhyaﬁliradesh is the largest producer of which of the following? | 7o weyr MaimEg # & fore =i &1 9ae g=7
JeUNEH

Options :

1. ¥ Sova Bean | 9&EE
2. ® Sugar Cane | TET

3. ¥ Onion | ™M

4, ® Gramn | =T

Question Number : 64 Question Id : 3354727994 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The main function of NABARD is :{ STeS &1 §&d #14 14 &

Options :

1. ® Granting crop loan to farmers | Tra=T &1 BEa 0T WS FAT
2. ® Agriculture research | Y srgaed

3. ¥ Providing rural employment | TTHIT TR T HEAT

:ﬁ + Facilitating credit flow for promotion and development of agriculture | F & W= 3T e & 7y For wag
7 &R

Question Number : 65 Question Id : 3354727995 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘Noor jahan’ is a rare variety of _______ cultivated in Madhya Pradesh. | =gl _______ T o Gerd AT 3 et
T T U | T AT 31

Options :
1. ® Wheat | g
2. ® Chilli | T&=f
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3. ¢ Mango | 3TH
4 ¥ Guava | 3WAES

Question Number : 66 Question Id : 3354727996 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
MNational Rural Health Mission has been launched in the country since

_________ & AT o BT 3l
Options :
1. ¥ April 2010 | afid, 2010
¥ April 2005 | ald, 2005
!
!

.| TET TTHI waee e ar o

D

w

® April 2006 | sfild, 2006
® April 2008 | o, 2008

o

Question Number : 67 Question Id : 3354727997 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many times was the Madhya Pradesh Panchayati Riﬁ;ct 1992 amended between 1994 and 19997 | A&
uﬁ“&mam%w ITaam, 1993 %7 §ared 1994 3T 1999 o el fepa e gair 417

Options :

1. % 11times | 11 @
2. ® gtimes | 6 @K
® 14times | 1491
¥ 8times | 89X

Question Number : 68 Question Id : 3354727998 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The Madhya Pradesh Rajya Beej Evarmn Farm Vikas Migam Adhiniyam AcCt was enacted in
T & el WTH Toerre = arferiam H arterfeise o mar am

Options :
1. ¥ 1971
¥ 1980

P

® 1963
® 2003

&

Question Number : 69 Question Id : 3354727999 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
What was Madhya Pradesh’s rank as in 2015-16 in production of garlic? | 2015-16 @& sIf#al & aTJaR, 7 0
T AgE JcUTe H ®I &7 &I 417

Options :

1. ¢ 1st | ugal
¥ 2nd | gET
#® 3rd | I
® 4th | =T

r

L

e

Question Number : 70 Question Id : 3354728000 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Which among the following states is ranked top in terms of cultivated area? | T teai # ¥ S aT W 83 &
g # S v we 87
Options :
1. ¥ Madhya Pradesh | Feg 0
2. ¥ Maharashtra | AgRTE
3. % andhra Pradesh | STl Ugd
4. ® Karnataka | @ic®

Question Number : 71 Question Id : 3354728001 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The amount of assistance is made available to the beneficiaries of rural housing schemes by? | THITT TET
I TETAFT P 18 TG W | I0A BT A

Options :

1. ¥ Paying them in cash | 3=¢ 77 #0d GU 919 &
2. % Through middlemen | Te=iieat & Areaq &

3. ¥ Through Bank counters | & ®13eT & ATEAR &
4. ¥ Direct Benefit Transfer | Weds @TH S0

Question Number : 72 Question Id : 3354728002 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
PElI'lChEl}?Elt (Extension to Scheduled Areas) Act, 1996 transferred ownership of Minor Forest pl"C?duCE‘ to

_________ | T (SR &t H fAear) srfdfiam, 1996 Y a9 & Seute @ waiied ________ @ ®IHIg i T ST 3]
Options :

1. ® Zilla Panchayat | T w2

2. ¥ Ministry of Forests | @9 H3&4

3. ¥ Registered Contractors | U=@d et

4. % Gram Sabha | TTH @47

Question Number : 73 Question Id : 3354728003 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The National Forest Policy (NFP) was released by Government of India in ____. | T a4 A1id (TAT®UT) T 9RT
TR ERT ____ S e T am

Options :
1. ¥ 1978

2 ¥ 1988
3. ¥ 1998
4 ¥ 2008

Question Number : 74 Question Id : 3354728004 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In India, the Intensive Cattle Development Project was launched by the Government of Indiain ______. | AT H,
T Aot o TiiseT IRd T &R/l ______ H Oy & e o

Options :

1. ® 1952

2 ® 1954
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3. ¥ 1964
4 ¥ 1969

Question Number : 75 Question Id : 3354728005 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

%mich % t%l?e following is NOT a feature of Panchayati Raj in India? | TFgiciEd # & &9 @ 0% 9RT # T=Tad T T ol

Options :

1. ¢ Collection of mermbership fees from villagers | TTHIT & SEEaT Jo &1 GUEY

2. % 3tier systern | a0 saeeT

3. ¥ Regular elections in every 5 years | Wade S a4 # ot &0 & g4@

® Reservation of seats for SC/ST /Wornen etc. | STJgid ATd | SgEd F=1id | Higelsil ScaTe @ Toid diel @7 0

o

Question Number : 76 Question Id : 3354728006 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a mandatory function of a Gramn Panchayat? | THafeiad # & &9 @1 T t=rerd #1
3T Tl A5l 57

Options :
1. ¥ Sanitation | FeEdT

2. ¥ Drinking water | U I
. ¥ Small scale industries | @ JEM
. ® Maintenance of village roads | T & GS&! & ATHAT

8

NN

Question Number : 77 Question Id : 3354728007 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which color tag is used for seeds certified by accredited agencies in India? | ARG ® AaaT W T & TR
AT o o ToreT et 217 T U Torar T &7

Options :

. ¥ Blue | Htem
2. ® Red | @A

3. ® Green | g0
4. % Yellow | W@

—

Question Number : 78 Question Id : 3354728008 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a plantation crop? | FEETET # & F19 | WS B0 (T BEA) 57

Options :

1. ® Wheat | T

2. % Mustard | &waf
3. ¥ Rubber | @

4. ® 0Oil seeds | aga

Question Number : 79 Question Id : 3354728009 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Heww many Tanoad Panchawvats are there in Madhva Pradesh? | Ted U2 § a4 T F90 tamad 27
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Options :
1. ¢ 300-350
2. % 351-400
® 401-450
4. ¥ 451-500

w

Question Number : 80 Question Id : 3354728010 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The Animal Wellness Programme launched by Government of India in 2017 is known as? | WaR gRT 2017 &
AT Tt T O] FaTed A g & A0 € A A7 6

Options :

1. ® pashu Swaasthya Karyakram | U HaTeed Fied
2. ® padhudhan Upachar Yojana | U JU=R GrT
3. ¢ Pashudhan Sanjivani | G ST

4. % Gau Upachar Yojana | Tt U= reT

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Computer Knowledge

Section Id : 335472262

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472262
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354728011 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which of%;he following option can remove the borders in MS Excel? | g § & @9 |7 Ty, THUE Ugad § 9121 ®1
T HFAT 5

Options :
1. ® Press enter | Ge¥ ga™
2. ¥ Choose no border | A7 F12T T =2 #T

3. ¥ Use formula | BTHAT & IUAM
4. % Not possible in Excel | UFed # §9d 751 5

Question Number : 82 Question Id : 3354728012 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
iz the brain of commnter |

WHULEY T Hieduer 21T 21
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Options :

1. ¥ CPU | #idrg
2 % MPU | UAdRg
3. ® GPU | Sinfig

4 ¥ RaM |

Question Number : 83 Question Id : 3354728013 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

How does a cornputer get infected by virus? | Us FHC, T100E § &4 GFTHd 51 AT 57
Options :

1. ¥ When a firewall is present | J& U&F BIaaTd JUTEST F1AT 3]

2. ¥ When antivirus software is active | 9d U [aTetd @1FecaT Uided §1aT 2]

3. ¥ When downloading unknown software from the internet | 9& $et4e & SRIT GFIT STIAAIE AT AT 5l

4 ® Wh%n working on MS Office software in the local computer | e @ lde PRI § TATH SAThe QIFecay 0 &1
o STt

Question Number : 84 Question Id : 3354728014 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Options :

1. ¢ Video Graphics Array (VGA) port | =gt orithes O (dii o
2. ® Universal Serial Bus (USE) port | giFada GIae a6 (JUas qi
3. ¥ Ethernet port | 3et-g Ui

4. ® FireWire port | BTaRaiae Ore

Question Number : 85 Question Id : 3354728015 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Inn MS Excel, ______ are numberad from 1 to onwards and JE— are numbered from A to onwards. | TATH
TFaA H ______ T 1 T FHE CAT AT g FAT______ T A T FHF T0T T 81
Options :

1. ¥ Columns, rows | ®iad, o
2. ® Rows, slides | T, gABSH
3. ® Slides, rows | G524, U
4. ¥ Rows, colurmns | 3, HTad

Question Number : 86 Question Id : 3354728016 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In M5 Excel, to add numeric values in colurmm D, fromrows D10 to D15, the formula that should be used is: |

A0 UFed §, WD 10 R D15 €, F1ad D § TgHitE dorg 1 Aie- & 60, 56 SIHEAT @7 JUHT foaT ST arfe:

Options :

1. ¥ SUM (D10, D15)

2. ¥ COUNT (D10, D11, D12, D13, D14, D15)
3. ¥ SUM (D10:D15)

4. ¥ COUNT (D10, D15)
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Question Number : 87 Question Id : 3354728017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Is it possible to print an e-mail? | F4T S Het o7 e Tera S g 27
Options :

1. ¢ Yes, it is possible | g, Tg T 3l

2. ® No, it is not possible | g\, ag @ 751 21

3. ¥ Print option not available | Tz g Iuaeer 51 2

4. ¥ None of the above | Jutigd # § B 51

Question Number : 88 Question Id : 3354728018 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the fullgform of ISP in cormputing terminology? | ®gfeT dearas i sTeuauT @7 qul & 47 &7
Options :

1. ® Internet System Programming | $etAe [aecH WITHT

2. ¥ Internet Service Provider | $2%-e glad Hlagst

3. ¥ Internet Session Plan | ¢ Q4 telA

4. ® Internet Session Programrming | $et-e¢ Sa HiumHT

Question Number : 89 Question Id : 3354728019 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Where are programs and data to be used by the computer available? | FHIZLT ERT SHTATH TP ST STl HIHTH T2
ST PET ITALE T &7

Options :

1. ® Qutput | AFEYE

2. % Input | 39YT

. ¥ Storage | gTRA

4 % Processing Unit | WTAMET e

L

Question Number : 90 Question Id : 3354728020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following function key activates the spelling in MS Excel 20077 | UHUS UFde 2007 # FHa d 4 &4
T Grepar gt U @ Uieede @il 57

Options :
1. ¥ F5
2. ¥ F7
3. ¥ F9
4. ® Shift + F7

Question Number : 91 Question Id : 3354728021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
By default Excel provides three worksheets. If vou need only two of thern, then how will you delete the third

%%%2 | TEWTAT 0 €, UFaa o 4 g diie Tg Fal o) ST AR 370 & 0= S dhi aq@dmdr g, a1 = d19¢ & e v et

Options :
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1. ¥ Right click on Sheet Tab of third sheet and choose Delete from the context menu | F e & e die Taw
TT5C Tk @t Sl e id o d TSale ®1 aad @<
2. ® Click on Sheet and from View menu choose Delete | ST W foere @< oI g3 # & 12T &7 aa @<

3. ¥ Left click on Sheet Tab of third sheet and choose Delete from the context menu | d16<T ST & T 2e ot fve
Teorar ¢ oI Haig e & TEaie @7 aa @

4 % None of the above | IWIgd § & T 81

Question Number : 92 Question Id : 3354728022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
_____ is & small graphical representation of a program or file | ______, % WITH 2T IS &1 U og UThebed Hid & gl

Options :
1. ® Image | 509

2 % Link | o
3. ¥ Button | T2
4. ¥ Icon | ATEHT

Question Number : 93 Question Id : 3354728023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The MS Word 2007 docurment can be zoomed maximurn up to ____. | TATE g2 2007 STHIHT P ____ T ATEman
FH TearT =T |eaT 31

Options :

1. ¥ 150%
2. % 100%
3. ¥ 400%
4. ¥ 500%

Question Number : 94 Question Id : 3354728024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Microsoft Office isafan__________. | TS IETTT ST _________ T gl

Options :

1. ® Shareware | JRRCAT

2. ¥ "Public-domain software | Uleoi®-3 189 Gidedat
3. ¥ "Open source software | 39 |F AT

4. ¥ Application suite | UqHTHIH G2

Question Number : 95 Question Id : 3354728025 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The World's first single chip microprocessor is ______ | TaharE T uger e o A e i

Options :

. ® Intel 8086 | 51¢cT 8086
. % Intel 8080 | g1¢d 8080
. % Intel 8008 | gI¢e 8008
. ¥ Intel 4004 | g9¢a 4004

L0 B L I

N
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Question Number : 96 Question Id : 3354728026 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
A 1S a group of independent cornputers attached to one another through corrrmunication media. |

__________ T HYET BT Uk g & 1 U gL o HHGRI HIISaT & ATeaH & 2 51 5

Options :

1. ¥ Internet | $etc
2 % E-mail | 2-Ad
3. ¥ Server | Hav

4 ¢ Network | Head

Question Number : 97 Question Id : 3354728027 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

m%mlch :‘%f the followmg will NOT cut information in MS Word 20077 | THTE 92 2007 ¥ MaaiaiEs & & @19 e
ETA

Options :
1. ¢ Pressing Ctrl + C | Ctrl + C &M

2. ¥ Pressing Ctrl + X | Ctrl + X Z&m
# Right clicking and select Cut option | TTg¢ Taered BT 3 HT ATIA HT Selgpe BT
# Select Cut option from the Clipboard group | % ey 1 fFemels Ja & = F

w

s

Question Number : 98 Question Id : 3354728028 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Which is NOT a basic function of a cornputer? | 0T # & 37 0% UYL F1 HA 1 51 57

Options :

1. ¥ Copy text | THEe HTUT AT

. ® Accept input | §AYC FaHER BEAT
. ® Process data | STET UTET FeAT

2
2

s

® Store data | STETHER &7

Question Number : 99 Question Id : 3354728029 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘JPG’ extension refers usually to what kind of file? | ‘ST T a= QT €0 & [0 UK &1 B15d @1 Ga 4 FedT 57

Options :
1. ® Systemn file | ey wEa
2. ® Animation or Movie file | THHIS 27 gt B3

3. # MS Encarta docurmnent | THTH @R S1HIHE
4. ¥ Image file | 579 BIEA

Question Number : 100 Question Id : 3354728030 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Windows 95154/ an

Options :

1. ¥ Operating systern | TR @eeq
2. ® Graphic system | UTithe @EeA
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3. ¥ Processing system | WIETET Eeen
4. ¥ Drawing system | STe Heeq



